GROUPH

ANNMNNINNNTT

Exploded View : EV ASSY ALTERNATOR SCROLL 390 150kW

Drawing No. : 10000037452

Revision : CN-0073598-C

Date : 8/2/23

Page 1 of 2



EXPLODED VIEW: EV ASSY ALTERNATOR SCROLL 390 150kW

DRAWING #: 10000037452 GROUP H
ITEM PARTH# QTY. DESCRIPTION

1 0A2110 16 SCREW HWHS 1/4-20 X 1/2 ZYC

2 0A2729 2 SCREEN 520 SHROUD

3 0E1976 2 SHIELD, DEFLECTOR

4 10000027052 2 ST03 SHROUD 390 150KW

5 G056326 1 TRIM VINYL BLACK 1/8GP (11.7 FT LG)

6 G022473 4 WASHER FLAT 1/4-M6 ZINC

7 G022097 4 WASHER LOCK M6-1/4

8 G045757 4 SCREW HHC M6-1.0 X 25 C8.8
REVISION: CN-0073598-C Page 2 of 2

DATE: 8/2/2023



	10000037452
	10000037452-C

